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[bookmark: _GoBack]	The three companies I have looked at are 3M, Netflix, and Texas Instruments. Something I thought was interesting about 3M was how they constantly increase in revenue but lowered their assets between 2017 and 2018. It also seems like their net income was lowest in 2017, being a downgrade from 2016. Another thing I found interesting was how quickly Netflix’s net income increased. This shows how much Netflix has grown in recent years, especially seeing the assets and liabilities also increase. Finally, Texas Instruments has jumped up in net income between 2017 and 2018, and their assets and equity have also gone down a significant amount. So despite lower money spent on assets, they continue to increase in net income.
